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Instructions

· Use black ink or ball-point pen. 

· Fill in the boxes at the top of this page with your name,
centre number and candidate number. 

· Answer all questions. 

· Answer the questions in the spaces provided

– there may be more space than you need. 

· Calculators must not be used.

Information

· The total mark for this paper is 76 

· The marks for each question are shown in brackets
– use this as a guide as to how much time to spend on each question. 

· Questions labelled with an asterisk (*) are ones where the quality of your 
written communication will be assessed.

Advice

· Read each question carefully before you start to answer it. 

· Keep an eye on the time.

· Try to answer every question. 

· Check your answers if you have time at the end.
GCSE Mathematics 1MA0

Formulae
You must not write on this formulae page.

Anything you write on this formulae page will gain NO credit.

Volume of prism = area of cross section × length
Area of trapezium = 
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2

(a + b)h
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Answer ALL questions.

Write your answers in the spaces provided.

You must write down all stages in your working.

You must NOT use a calculator.

1. 
Here is part of a train timetable from Newcastle to London.

	Newcastle
	05 56
	06 30
	07 28

	Durham
	06 09
	06 42
	07 41

	Darlington
	06 28
	07 00
	07 59

	York
	06 56
	07 33
	08 27

	Peterborough
	08 11
	08 41
	09 48

	London
	09 08
	09 39
	10 45


A train leaves Newcastle at 05 56.

(a)
What time should this train get to London?

..........................................

(1)

Matthew gets to the station in Darlington at 06 45.

He wants to catch the next train to York.

(b)
How many minutes should he have to wait for this train?

.......................................... minutes

(1)

A train leaves Peterborough at 09 48.

(c)
How many minutes should this train take to get from Peterborough to London?

.......................................... minutes

(1)

(Total 3 marks)
___________________________________________________________________________

2. 
(a) 
Write the number 1345 in words.


...............................................................................................................................................
(1)

(b) 
Write the number twelve thousand seven hundred and fifty in figures.

.....................................

(1)

(c) 
Write the number 4670 to the nearest hundred.

.....................................

(1)

(Total 3 marks)
___________________________________________________________________________

3. 
The pictogram shows the numbers of zips sold in a shop on Monday, on Tuesday and on Wednesday.
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(a) 
Write down the number of zips sold on Monday.

..........................................

(1)

(b) 
Write down the number of zips sold on Wednesday.

..........................................

(1)

9 zips were sold on Thursday.

(c) 
Complete the pictogram.

(1)

(Total 3 marks)
___________________________________________________________________________

4. 
Amir asked some people which was their favourite town for shopping.

He drew a bar chart to show information about their answers.





         Favourite Town for Shopping
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(a) 
How many people said that Bath was their favourite town for shopping?

.....................................

(1)

More people said that Bristol was their favourite town for shopping than said Swindon was.
(b) 
How many more?

.....................................

(1)

(c) 
Which town was the mode?

.....................................

(1)

(Total 3 marks)
___________________________________________________________________________

5. 
Poppy thinks of a rule for a number pattern.

Her rule is
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Here are the first 3 numbers in her number pattern.




3
6
12

(a) 
Write down the next number in Poppy’s number pattern.

.....................................

(1)
Jasper thinks of a rule for a number pattern.

He uses his rule to write down 
2
5
8
11

(b) 
Complete the box to show Jasper’s rule.
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(1)

Carl thinks of a rule for a number pattern.

His rule is


[image: image9]
He starts with the number 3

(c) 
Write down the second number and the third number in his number pattern.

....................... and .......................

(1)

(Total 3 marks)

___________________________________________________________________________

6. 
The table gives information about the temperatures in Reykjavik for 5 days one week.
	Day
	Maximum temperature
	Minimum temperature

	Monday
	5° C
	4° C

	Tuesday
	8° C
	6° C

	Wednesday
	6° C
	–2° C

	Thursday
	–1° C
	–4° C

	Friday
	–3° C
	–6° C


(a) 
Which day had the highest maximum temperature?

...................................................................

(1)

(b) 
What is the lowest minimum temperature?

......................................... °C

(1)

(c) 
Which day had the greatest difference between the maximum temperature and the minimum temperature?

...................................................................

(2)

(Total 4 marks)
___________________________________________________________________________

7. 
Here are some coins.
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Alison puts these 9 coins in a row.

She picks 3 of the coins to make 8 pence.

(a) 
Write down the value of each of the three coins she picks.

................... p

................... p

................... p

(1)

Alison puts the 9 coins in a row again.
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(b) 
(i) What is the smallest amount of money she could make with 5 of these coins?

........................................ p

(ii) What is the largest amount of money she could make with 5 of these coins?

........................................ p

(2)

(Total 3 marks)
___________________________________________________________________________

8. 
Here is a sketch of a right-angled triangle.
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In the space below, make an accurate drawing of this triangle.

 (Total 3 marks)
___________________________________________________________________________

9.
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(a) 
Write down the coordinates of the point P.

(.......... , ..........)

(1)

(b) 
(i) 
On the grid, plot the point (1, 2).




Label the point Q.


(ii)
On the grid, plot the point (–3, –2).




Label the point R.

(2)

(Total 3 marks)
___________________________________________________________________________

10. 
The table shows some information about the numbers of medals won by Great Britain in the 2012 Olympic Games and in the 2012 Paralympic Games.

	
	Gold
	Silver
	Bronze

	Olympic Games
	29
	17
	19

	Paralympic Games
	34
	43
	43


Great Britain won more medals in total in the Paralympic Games than in the Olympic Games.

How many more medals in total?

..........................................

(Total 3 marks)
___________________________________________________________________________

11. 
(a)
Write the number 4906 in words.
......................................................................................................................................................

(1)
(b)
Write the number ten thousand five hundred and forty eight in figures.

.....................................

(1)

(c) 
Write the number 463 to the nearest ten.

.....................................

(1)

(d) 
Write the number 29 760 to the nearest thousand.

.....................................

(1)

(Total 4 marks)
___________________________________________________________________________

12.

	Evens
 
Unlikely
     Impossible            Certain

Likely


Use a word from the box which best describes each of the following events.

(a) 
When you throw an ordinary dice you get a number greater than 1

.....................................

(1)
(b) 
When you throw an ordinary coin you get a head.

.....................................

(1)
(c) 
When you take out a counter from a bag that contains only blue counters you get a red counter.

.....................................

(1)
(Total 3 marks)
___________________________________________________________________________

13. 
Ann works in a sandwich shop.
The dual bar chart shows information about the sandwiches sold.

[image: image14.emf]
(a)
Write down the total number of cheese sandwiches sold.

..........................................

(1)

More white bread sandwiches were sold than brown bread sandwiches.

(b)
Work out how many more white bread sandwiches.
..........................................

(2)

(Total 3 marks)
___________________________________________________________________________

14. 
Lisa has 4 cards.

Each card has a number on it.
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Lisa makes a number using all four cards.

(a) 
Write down the smallest number Lisa can make.
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........................................................................

(1)

(b) 
Write down the largest number Lisa can make.
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........................................................................

(1)

(c) 
Write down an odd number Lisa can make.
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........................................................................

(1)

 (Total 3 marks)
___________________________________________________________________________

15. 
5600 copies of the Village Advertiser are printed each week.

(a) 
Write the number 5600 in words.

......................................................................................................................................................

(1)

People have to pay to have an advert in the Village Advertiser.

Each advert is in the shape of a rectangle.

The table gives information about the cost of having an advert in the Village Advertiser.

	Advert size
	Size of rectangle
	Cost per week

	Size 1
	44 mm by 27 mm
	£6.50

	Size 2
	90 mm by 35 mm
	£13.50

	Size 3
	90 mm by 60 mm
	£20.00

	Size 4
	90 mm by 125 mm
	£33.00


A Size 2 advert is a 90 mm by 35 mm rectangle.

(b) 
In the space below, draw a 90 mm by 35 mm rectangle.

(2)

David has this advert in the Village Advertiser for 2 weeks.

The advert is accurately drawn.

	Guitar Lessons

Lessons for beginners

Phone David on

01778 234525


(c)
What is the total cost of the advert for 2 weeks?

£..........................................

(3)

Raja wants to have a Size 2 advert in the Village Advertiser for 8 weeks.

He has £100 to spend.

(d)
Show that Raja does not have enough money to pay for the advert for 8 weeks.


You must show all your working.

(2)

(Total 8 marks)
___________________________________________________________________________

16. 
Here are the first four terms of a number sequence.


3
7
11
15

(a)
Write down the next term of this sequence.

..........................................

(1)

The 50th term of this number sequence is 199.
(b)
Write down the 51st term of this sequence.

..........................................

(1)

The number 372 is not a term of this sequence.

(c)
Explain why.

......................................................................................................................................................

......................................................................................................................................................

(1)

(Total 3 marks)
___________________________________________________________________________

17. 
Mary buys three tickets for a theatre show.

Each ticket costs £50.

Mary also has to pay a booking fee.

The booking fee is £2.50 per ticket.

Work out the total amount Mary has to pay.

£..........................................

(Total 3 marks)
___________________________________________________________________________

18. 
Liz asks 20 people to name the flavour of chocolate they like best.
Here are her results.

milk
plain
orange
plain
milk

coffee
white
milk
milk
orange

white
coffee
plain
milk
milk

milk
plain
coffee
milk
orange

(a)
Complete the frequency table.
	Flavour of chocolate
	Tally
	Frequency

	plain
	
	

	milk
	
	

	coffee
	
	

	orange
	
	

	white
	
	


(2)
(b)
On the grid, draw a suitable chart or diagram to show Liz’s results.
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(3)
 (Total 5 marks)
___________________________________________________________________________

19. 
(a) 
Write down the number five hundred and seven in figures.

..........................................

(1)
(b) 
Write down the value of the 4 in the number 9346

..........................................

(1)
(c) 
Write 6431 to the nearest thousand.

..........................................

(1)
(Total 3 marks)
___________________________________________________________________________

20. 
(a)
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Shade one more square to make a pattern with 1 line of symmetry.

(1)

(b)
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Shade one more square to make a pattern with rotational symmetry of order 2

(1)

(Total 2 marks)
​​​​​​​​​​​​​___________________________________________________________________________
21. 

[image: image22.emf]

(a) 
Write down the coordinates of the point A.

(................ , ................)

(1)

(b) 
Write down the coordinates of the point B.

(................ , ................)

(1)

(c) 
On the graph, mark the point (0, –2) with a cross (().

Label this point C.

(1)

 (Total 3 marks)
​​​​​​​​​​​​​​___________________________________________________________________________

22. 
Susan and Joe are going on holiday.

They can take two cases onto the plane free of charge if the total weight
of the two cases is no more than 40 kg.
Susan’s case has a weight of 22.8 kg.

Joe’s case has a weight of 19.5 kg.
*(a)
Can they take their two cases onto the plane free of charge?
(2)
Susan and Joe want to be at the airport terminal at 14 30.

It will take 1 hour and 20 minutes to drive from home to the airport.
It will then take a total of 30 minutes to park the car and go into the airport terminal.
(b)
What is the latest time they can leave home?
..........................................

(3)

(Total 5 marks)
​​​​​​​​​​​​​​___________________________________________________________________________

TOTAL FOR PAPER IS 75 MARKS
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